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1 2
4

e xF
Rπe+ =  

  
The force exerted on one electron by the other electron (located a distance 2x away) is 
  

 
2

2
0

1
4 4

eF
xπe− =  

 
At equilibrium, F F+ −= , so 
 

 
2 2

3 2

2 or
4 2

e x e Rx
R x

= =  

 
5. (a) From Equation 6.8, 

 

 
2

0

(2)(79)cot (1.440MeV fm)cot 45 18.2 fm
2 4 2 2(6.25MeV)
Zz eb
K

θ
πe

= = ⋅ ° =  

 
(b) We can rewrite Equation 6.18 as 
 

 
2

2 2 2 21 1
min min2 2

0

0
4

emv r Zzr mv b
πe

− − =  

 
which can be analyzed using the quadratic formula to give 
 

22 2
2

min 2 2
0 0

2
2

4 4

(1.440MeV fm)(2)(79) (1.440MeV fm)(2)(79) (18.2fm) 43.9 fm or 7.5 fm
12.5MeV 12.5MeV

e Zz e Zzr b
mv mvπe πe

 
= ± + 

 

 ⋅ ⋅
= ± + = − 

 
 
Only the positive root is physically meaningful, so min 43.9 fm.r =  
 

(c)            
2

0 min

(1.440MeV fm)(2)(79) 5.18 MeV
4 43.9fm

e ZzU
rπe

⋅
= = =  

 
 6.25MeV 5.18MeV 1.07 MeVK E U= − = − =  
 

6. From Equation 6.19, 
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2

0

(1.440 MeV fm)(2)(79) 33 MeV
4 7.0fm

e ZzK
dπe

⋅
= = =  

 

7.  
2

0

(1.440MeV fm)(2)(29) 11.3 fm
4 7.4MeV

e Zzd
Kπe

⋅
= = =  

 
8. (a) The density ρ of silver is 10.5 g/cm3 and its molar mass M is 107.9 g/mole.  Thus 

 
23 3

22 3 28 3A (6.02 10 atoms/mole)(10.5 g/cm ) 5.86 10 atoms/cm 5.86 10 atoms/m
107.9g/mole

Nn
M
ρ ×

= = = × = ×

 

At θ = 90°, 
2

0

(1.44 MeV fm)(1)(47)cot cot 45 6.27 fm
2 4 2 2(5.4MeV)
Zz eb
K

θ
πe

⋅
= = ° =  

2 28 3 6 15 2 5
90 (5.86 10 m )(3.6 10 m)( )(6.27 10 m) 2.61 10f nt bπ π− − − −

> ° = = × × × = ×  
 

(b) At θ = 10°, 
2

0

(1.44 MeV fm)(1)(47)cot cot 5 71.6 fm
2 4 2 2(5.4MeV)
Zz eb
K

θ
πe

⋅
= = ° =  

 2 28 3 6 15 2 3
10 (5.86 10 m )(3.6 10 m)( )(71.6 10 m) 3.40 10f nt bπ π− − − −
> ° = = × × × = ×  

 

(c) At θ = 5°, 
2

0

(1.44 MeV fm)(1)(47)cot cot 2.5 144 fm
2 4 2 2(5.4MeV)
Zz eb
K

θ
πe

⋅
= = ° =  

 
2 28 3 6 15 2

5

2 2 2
5 10

(5.86 10 m )(3.6 10 m)( )(144 10 m) 1.37 10

1.37 10 3.40 10 1.03 10

f nt b

f f

π π− − − −
> °

− − −
> ° > °

= = × × × = ×

− = × − × = ×
 

 
(d) 2

5 51 1 1.37 10 0.986f f −
< ° > °= − = − × =  

 

 9. 
22 3 2

Au Ag Au90 Au Au Au
2 2 3 2

90 Ag Ag Ag Ag Au Ag

(Au) (19.3g/cm )(107.9g/mole)(79) 2.84
(Ag) (10.5g/cm )(197.0g/mole)(47)

M Zf n t bR
f n t b M Z

ρπ
π ρ

> °

> °

= = = = =  

 
10. As a rough first approximation, we can assume that the light alpha particle rebounds from 

the massive gold nucleus with a final momentum pf that is in magnitude nearly equal to 
its initial momentum pi, so that the recoil momentum given to the gold nucleus is 

 
 recoil i f i i i( ) 2p p p p p p= − ≅ − − =  
 
This is accurate to within about 2%.  The recoil kinetic energy of the gold nucleus is 
  

 
2 2
recoil i

recoil
Au Au Au

4(2 )4 44(8.0MeV) 0.63 MeV
2 2 2 197
p m KpK
M M M

α α= = = = =  
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This gives the probability per unit area for an alpha particle to be scattered into the 
detector.  The area of the detector is π(0.50 cm)2 = 7.96 × 10−6 m2.  The total probability 
for an alpha particle to strike the detector is 2 6 2 6(0.246 m )(7.96 10 m ) 1.96 10− − −× = × .  
That is, each alpha particle has a probability of 1.96 × 10−6 to be scattered into the 
detector.  If the rate of incident particles is 3.0 × 107 s−1, the rate at which they strike the 
detector is 6 7 1 1(1.96 10 )(3.0 10 s ) 59 s− − −× × = . 

 
14. From the Rutherford scattering formula (Eq. 6.14) the only difference between the two 

positions is the term depending on the angle – all other parameters are the same for the 
two experiments. The expected ratio between the two counting rates is then 
 

 
4

5
4

(150 ) sin (150 /2) 6.63 10
(10 ) sin (10 /2)

N
N

−
−

−

° °
= = ×

° °
  

 
so the rate at 150° would be (11.3/s)(6.63 × 10-5) = 7.49 × 10-4 /s. 

 
15. The shortest wavelength is the series limit.  For the Lyman series, n0 = 1 and Equation 

6.21 becomes 

 
2

2(91.13 nm) 2,3, 4,
1

n n
n

λ = =
−

  

 
which gives λ = 121.51 nm (n = 2), 102.52 nm (n = 3), 97.21 nm (n = 4). 
 

16. For the Brackett series, n0 = 4.  With λ = 1944 nm, Equation 6.21 gives 
 

 
2

2 21944 nm (1458 nm)
4

n
n

=
−

 

 
which can be solved to give n = 8.  The next higher (n = 7) and next lower (n = 9) lines 
are 

 
2 2

2 2 2 2

7 9(1458 nm) 2165 nm (1458 nm) 1817 nm
7 4 9 4

λ λ= = = =
− −

 

 
17. For the Pfund series, n0 = 5 and the longest wavelength corresponds to n = 6.  Solving 

Equation 6.21 for the series limit, we have 
 

 
2 2 2 2

0
limit 2 2

6 5(7459 nm) 2279 nm
6

n n
n

ll  − −
= = =  

 
18. From Figure 6.16 we see that only the Paschen series (n0 = 3) has lines near 1000 nm. 

Using the series limit of 820.1 nm, we have from Eq. 6.21 
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46. (a) From Eq. 6.28 for the allowed radii: 
  

 
6

11
0

10 m 137
5.29 10 m

nrn
a

−

−= = =
×

  

 
(b)  

 4
2 2

13.6 eV 13.6 eV 7.25 10 eV
(137)nE

n
−− −

= = = − ×   

 
so the ionization energy would be 0.725 meV. 
 
(c)  

 5
2 2 2 2
1 2

1 1 1 1( 13.6 eV) ( 13.6 eV) 1.07 10 eV
137 136

E
n n

−   ∆ = − − = − − = ×   
  

  

 

 4

1240 eV nm 0.116 m
1.07 10 eV

hc
E

λ −

⋅
= = =
∆ ×

  

 
This is in the microwave region of the electromagnetic spectrum. 
 

47.  The series limit can be found from Eq. 6.33 with n1 = ∞ and n2 = 6: 
 

 
2 3

21 2
2 2 7 1
1 2

1 1 6 3.281 m
1.097373 10 m

n n
R n n

λ m−
∞

= = =
− ×

  

 
The emitted wavelengths can be found from Eq. 6.21with n0 = 6 and n = 7, 8, or 9: 
 

 

2

7 6 2 2

2

8 6 2 2

2

9 6 2 2

7(3.281 m) 12.367 m
7 6

8(3.281 m) 7.499 m
8 6

9(3.281 m) 5.906 m
9 6

λ m m

λ m m

λ m m

→

→

→

= =
−

= =
−

= =
−

  

 
These radiations are in the infrared region of the spectrum. 
 

48.  The Rutherford formula will fail when the distance of closest approach is less than the 
combined radii of the alpha particle and aluminum nucleus. Rewriting Eq. 6.19 for the 
distance of closest approach in a head-on collision,  
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2

0

(2)(13)(1.44 MeV fm) 6.8 MeV
4 1.9 fm 3.6 fm

e zZK
dπe

= = ⋅ =
+

  

 
Alpha particles of energy greater than 6.8 MeV will penetrate the aluminum nucleus can 
cause a breakdown in the Rutherford scattering formula. Such energies from radioactive 
decay were available in Rutherford’s time. 
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This gives the probability per unit area for an alpha particle to be scattered into the 
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5
4

(150 ) sin (150 /2) 6.63 10
(10 ) sin (10 /2)

N
N

−
−

−

° °
= = ×

° °
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4
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2 2

2 2 2 2

7 9(1458 nm) 2165 nm (1458 nm) 1817 nm
7 4 9 4

λ λ= = = =
− −

 

 
17. For the Pfund series, n0 = 5 and the longest wavelength corresponds to n = 6.  Solving 

Equation 6.21 for the series limit, we have 
 

 
2 2 2 2

0
limit 2 2

6 5(7459 nm) 2279 nm
6

n n
n

ll  − −
= = =  

 
18. From Figure 6.16 we see that only the Paschen series (n0 = 3) has lines near 1000 nm. 

Using the series limit of 820.1 nm, we have from Eq. 6.21 
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2

2

2 2

1005 nm (820.1 nm)
9

1.225( 9)

n
n

n n

=
−

− =
  

 
Solving, we find n = 7, so the transition connects the n = 7 and n = 3 states. 

 
19.  3 09 9(0.0529 nm) 0.476 nmr a= = =  

 

 

3 5
2 6

2

0

2

0

3(1240eV nm) / 2 2.43 10 7.30 10 m/s
(0.511 10 eV)(0.476nm)

1 1.440 eV nm 3.02 eV
4 0.476 nm

1 1.440eV nm 1.51eV
8 2(0.476 nm)

n n cv c c c
mr mc r

eU
r

eK
r

π

πe

πe

−⋅
= = = = × = ×

×

⋅
= − = − = −

⋅
= = =

 

 

 
20.  The Lyman series consists of transitions from higher levels to the n2 = 1 level.  The series 

limit would be the transition with the highest energy, corresponding to a jump from n1 = 
∞ to n2 = 1.  The wavelength is found from Equation 6.33: 

 

 
2 2 2 2
1 2 2 1

2 2 2 2 7 1
1 2 1 2

1 1 91.13 nm
1.09737 10 m

n n n n
R n n R n n

λ −
∞ ∞

   
= = = =   − − ×   

 

 
For the Paschen series (n2 = 3), the series limit is (with n1 = ∞) 
 

 
2
2

limit 7 1

9 820.1 nm
1.09737 10 m

n
R

l −
∞

= = =
×

 

 

21. (a) From Equation 6.26, 2
0

n nv
mr mn a

= =
  .  Using Equation 6.29 for a0, we obtain 

 
2

2 2
0 0

1
(4 / ) 4

e cv
nm me n n

α
πe πe

= = =


 

 

 
(b)  When the nuclear charge is Ze, we must replace e2 with Ze2, so /v Z c nα= . 
 

22. The energy of the initial n = 5 state is 5
13.6 eV 0.544 eV

25
E −

= = − .  An electron in this 

state can make transitions to any of the lower states with n = 4 (E4 = −0.850 eV), n = 3 



Chapter 6 Page 6 
 

 

2

2

2 2

1005 nm (820.1 nm)
9

1.225( 9)

n
n

n n

=
−

− =
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⋅
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2 2 2 2
1 2 2 1

2 2 2 2 7 1
1 2 1 2

1 1 91.13 nm
1.09737 10 m

n n n n
R n n R n n

λ −
∞ ∞

   
= = = =   − − ×   
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2
2
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R
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∞

= = =
×
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0
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e cv
nm me n n

α
πe πe

= = =


 

 

 
(b)  When the nuclear charge is Ze, we must replace e2 with Ze2, so /v Z c nα= . 
 

22. The energy of the initial n = 5 state is 5
13.6 eV 0.544 eV

25
E −

= = − .  An electron in this 

state can make transitions to any of the lower states with n = 4 (E4 = −0.850 eV), n = 3 
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(E3 = −1.51 eV), n = 2 (E2 = −3.40 eV), and n = 1 (E1 = −13.6 eV).  The transition 
energies are: 
  

 

5 4

5 3

5 2

5 1

5 4 : 0.544 eV ( 0.850 eV) 0.306 eV
5 3: 0.544 eV ( 1.51eV) 0.97 eV
5 2 : 0.544 eV ( 3.40 eV) 2.86 eV
5 1: 0.544 eV ( 13.6 eV) 13.1eV

E E E
E E E
E E E
E E E

→ ∆ = − = − − − =
→ ∆ = − = − − − =
→ ∆ = − = − − − =
→ ∆ = − = − − − =

 

 
23. The Paschen series consists of transitions from higher levels that end in the n = 3 level.  

The energies and wavelengths are: 
  

 

2 2

2 2

2 2

1 1 1240eV nm4 3: ( 13.60eV) 0.661eV 1876 nm
4 3 0.661 eV
1 1 1240eV nm5 3: ( 13.60eV) 0.967eV 1282 nm
5 3 0.967 eV
1 1 1240eV nm6 3: ( 13.60eV) 1.133eV 1094 nm
6 3 1.133 eV

7 3:

E

E

E

λ

λ

λ

⋅ → ∆ = − − = = = 
 

⋅ → ∆ = − − = = = 
 

⋅ → ∆ = − − = = = 
 

→ ∆ 2 2

1 1 1240eV nm( 13.60eV) 1.234eV 1005 nm
7 3 1.234 eV

E λ ⋅ = − − = = = 
 

 

 
The series limit is 1.511 eV, corresponding to a wavelength of 820.5 nm. 

 
24. The photon energy of the incident light is 

 

 1240 eV nm 23.4 eV
53.0 nm

hcE
λ

⋅
= = =  

0.
66

1 

Photon 
wavelength 
(nm) 

Photon 
energy 
(eV) 

n = ∞ 
n = 7 
n = 6 
n = 5 
n = 4 

n = 3 

0.
96

7 

1.
13

3 

1.
23

4 

1.
51

1 … 

… 

… 

18
76

 

12
82

 

10
94

 

10
05

 

82
0.

5 

E3 = -1.511 eV 

E4 = -0.850 eV 
E5 = -0.544 eV 
E6 = -0.378 eV 

E∞ =  0.000 eV 
E7 = -0.278 eV 
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When an atom in the ground state absorbs a 23.4-eV photon, the atom is ionized (which 
takes 13.6 eV).  The excess energy, 23.4 eV − 13.6 eV = 9.8 eV, appears as the kinetic 
energy of the electron, which is now free of the atom.  Neglecting a small recoil kinetic 
energy given to the proton, the electrons have a kinetic energy of 9.8 eV. 
 

25. (a) The ionization energy is the magnitude of the energy of the electron.  For the n = 3 
level of hydrogen 

 3
13.6 eV 1.51 eV

9
E −

= =  

  
(b) For singly ionized helium (Z = 2) we use Equation 6.38: 
 

 
2 2

2 2

( 13.6 eV) ( 13.6 eV)2 13.6 eV
2n

ZE
n

− −
= = =  

   

(c)   
2 2

2 2

( 13.6 eV) ( 13.6 eV)3 7.65 eV
4n

ZE
n

− −
= = =  

 

26. (a)   4 2 2 2

1 1(4 2) ( 13.6 eV) 2.55 eV
4 2

E E E  → = − = − − = 
 

 

 

   4 3 2 2

1 1(4 3) ( 13.6 eV) 0.661eV
4 3

E E E  → = − = − − = 
 

 

 

   3 2 2 2

1 1(3 2) ( 13.6 eV) 1.89 eV
3 2

E E E  → = − = − − = 
 

 

 
   (4 3) (3 2) 0.661 eV 1.89 eV 2.55 eV (4 2)E E E→ + → = + = = →  
 

 (b)   4 2 2 2

1 1(4 1) ( 13.6 eV) 12.8 eV
4 1

E E E  → = − = − − = 
 

 

 

   2 1 2 2

1 1(2 1) ( 13.6 eV) 10.2 eV
2 1

E E E  → = − = − − = 
 

 

 
   (4 2) (2 1) 2.55 eV 10.2 eV 12.8 eV (4 1)E E E→ + → = + = = →  
 

27. The Lyman series consists of transitions that end in the n = 1 level.  The smallest energy 
difference, corresponding to the longest wavelength, is n = 2 to n = 1. 

 




